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Paper-V
i=k&V

INDIAN ECONOMY, GLOBALIZATION AND SUSTAINABLE DEVELOPMENT

Hkkjrh; vFkZO;oLFkk] HkweaMyhdj.k ,oa lrr~ fodkl
Instructions :
		  The Question Paper consists of five section. Each section carries 40 Marks. Section-I is compulsory and 

contains twenty objective question, Each carries two marks (20 × 2 = 40) Section - II to V contain two 
optional long descriptive question each. The condidate is required to answer one question from each 
section.

funsZ'k%

	 	iz'u&i=k ik¡p [k.Mksa esa foHkDr gSaA izR;sd [kaM 40 vadksa dk gSA [k.M&I vfuok;Z gS] ftleas nks&nks vadksa ds 20 
oLrqfu"B iz'u gSa (20 × 2 = 40) [k.M&II ls V esa izR;sd [kaM nks&nks oSdfYid nh?kZ mÙkjh; iz'u gSaA ijh{kfFkZ;ksa 
dks izR;sd [kaM esa ls ,d dk mÙkj nsuk gSA� (20 × 2 =40)

SECTION-I 
[k.M&I

	 1.	 Which method is used to measure National Income?
	 (A)	 Income method	 (B)	 Production method
	 (C)	 Expenditure method	 (D)	 All of the above

	 	jk"Vªh; vk; dks ekius ds fy, fdl fofèk dk ç;ksx fd;k tkrk gS\
	 (A)	 vk; fofèk	 (B)	mRiknu fofèk

	 (C)	 O;; fofèk	 (D)	mi;ZqDr lHkh fofèk

	 2.	 This is not come under goals of National Policy of India.
	 (A)	 To bring down Total Fertility Rate (TFR) to replacement levels by 2015.
	 (B)	 To reduce the infant mortality rate to 30 per thousand (1000) live births.
	 (C)	 To reduce maternal mortality rate 100 per 100000 live births.
	 (D)	 100 percent registration of births, deaths, marriages and pregnancies.

	 	;g Hkkjr dh jk"Vªh; uhfr ds y{;ksa ds varxZr ugha vkrk gSA
	 (A)	 2015 rd dqy çtuu nj (Vh,iQvkj) dks çfrLFkkiu Lrj rd ykus ds fy,A

	 (B)	 f'k'kq e`R;q nj dks çfr gtkj (1000) thfor cPpksa ij 30 (rhl) rd de djukA

	 (C)	 ekr` e`R;q nj dks 100 çfr 100000 thfor tUeksa rd de djukA

	 (D)	 tUe] e`R;q] fookg vkSj xHkZèkkj.k dk 'kr çfr'kr iathdj.k djkukA

	 3.	 Choose the correct statement(s) related to the green revolution.
	 (i)	 Increasing agricultural production by incorporating modern tools and techniques.
	 (ii)	 New high yielding varieties of wheat were developed by Prof. Norman Borlaug and were adopted 

by a number of countries.
	 (A)	 only (i)	 (B)	 only (ii)
	 (C)	 Both (i) and (ii)	 (D)	 Neither (i) nor (ii)

	 	gfjr ØkfUr ls lEcfUèkr lgh dFku@dFkuksa dk p;u djsa!
	 (i)	 vkèkqfud midj.kksa vkSj rduhdksa dks 'kkfey djds Ñf"k mRiknu c<+kukA

	 (ii)	 xsgw¡ dh ubZ mPp mit nsus okyh fdLeksa dks çks- ukWLeu cksjykWx }kjk fodflr fd;k x;k Fkk vkSj dbZ ns'kksa 
}kjk viuk;k x;k FkkA
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	 (A)	 dsoy (i)	 (B)	dsoy (i)

	 (B)	 (i) ,oa (ii) nksuksa	 (D)	u rks (i) u gh (ii)

	 4.	 Who is the father of Public finance?
	 (A)	 Dalton	 (B)	 Pigou
	 (C)	 Smith	 (D)	 Musgrave

	 	yksd foÙk ds tud dkSu gSa\
	 (A)	 MkYVu	 (B)	ihxw

	 (C)	 fLeFk	 (D)	elxzso

	 5.	 In Budget 2021, a multipurpose seaweed park is proposed in which state?
	 (A)	 Kerala	 (B)	 Andhra Pradesh
	 (C)	 Odisha	 (D)	 Tamil Nadu

	 	ctV 2021 esa fdl jkT; esa ,d cgqís'kh; leqæh 'kSoky ikdZ çLrkfor gS\
	 (A)	 dsjy	 (B)	vkaèkz çns'k

	 (C)	 vksfM'kk	 (D)	rfeyukMq

	 6.	 Match List - I with List - II and select the correct answer using the codes given below:
		  List-I		  List-II
	 1.	 Fiscal deficit	 A.	 Excess of total expenditure over total receipts.
	 2.	 Budget deficit	 B.	 Excess of revenue expenditure over revenue receipts.
	 3.	 Revenue deficit	 C.	 �Excess of total expenditure over total receipts less 

borrowings.
	 4.	 Primary deficit	 D.	 �Excess of total expenditure over total receipts, less 

borrowings and interest payments.
		  1	 2	 3	 4
	 (A)	 C	 A	 B	 D
	 (B)	 D	 C	 B	 A
	 (C)	 A	 C	 B	 D
	 (D)	 C	 A	 D	 B

	 	lwph&I dks lwph&II ls lqesfyr dhft, vkSj uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,
		  lwph&I		 lwph&II

	 1-	 jktdks"kh; ?kkVk	 A.	dqy çkfIr;ksa ij dqy O;; dh vfèkdrkA

	 2-	 ctV ?kkVk	 B.	jktLo çkfIr;ksa ij jktLo O;; dh vfèkdrkA

	 3-	 jktLo ?kkVk	 C.	dqy çkfIr;ksa ij dqy O;; dh vfèkdrk de mèkkjhA

	 4-	 çkFkfed ?kkVk	 D.	�dqy çkfIr;ksa ij dqy O;; dh vfèkdrk] de mèkkj 
vkSj C;kt HkqxrkuA

		  1	 2	 3	 4
	 (A)	 C	 A	 B	 D
	 (B)	 D	 C	 B	 A
	 (C)	 A	 C	 B	 D
	 (D)	 C	 A	 D	 B

	 7.	 Which three indicators are used in Human Development Index (HDI) ?
	 I.	 Standard of living	 II.	 Education
	 III.	 Life expectancy	 IV.	 Condition of Environment
	 (A)	 only I, II and IV	 (B)	 only I, II and III
	 (C)	 only I and II	 (D)	 All of the above
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	 	ekuo fodkl lwpdkad (HDI) esa fdu rhu ladsrdksa dk mi;ksx fd;k tkrk gS\
	 I.	 thou Lrj	 II.	f'k{kk

	 III.	 thou çR;k'kk	 IV.	i;kZoj.k dh fLFkfr

	 (A)	 dsoy I, II vkSj IV	 (B)	dsoy I, II vkSj III

	 (C)	 dsoy I vkSj II	 (D)	mi;ZqDr lHkh

	 8.	 Which of the following options is not incorporated as sustainable development parameters?
	 (A)	 Gender disparity and diversity	 (B)	 Inter and Intra-generational equity
	 (C)	 Carrying capacity	 (D)	 None of the above

	 	 fuEufyf[kr esa ls dkSu&lk fodYi lrr~ fodkl ekudksa ds :i esa 'kkfey ugha gS\
	 (A)	 fyax vlekurk ,oa fofoèkrk	 (B)	vUr% ,oa vUrj&ih<+hxr~ lerk

	 (C)	 ogu {kerk	 (D)	mijksDr esa ls dksbZ ugha

	 9.	 Consider the following statements:
	 1.	 Poverty line estimation in India is based on income levels.
	 2.	 Poverty estimation in India is carried out by NITI Aayog’s task force.

		  Which of the above statement is correct ?
	 (A)	 1 only	 (B)	 2 only
	 (C)	 Both 1 and 2	 (D)	 Neither 1 nor 2

	 	 fuEu dFkuksa ij fopkj djsa%
	 1-	 Hkkjr esa xjhch js[kk dk vuqeku vk; ds Lrj ij vkèkkfjr gSA

	 2-	 Hkkjr esa xjhch dk vkdyu uhfr vk;ksx dh VkLd iQkslZ }kjk fd;k tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk lgh gS\
	 (A)	 dsoy 1	 (B)	dsoy 2

	 (C)	 nksuksa 1 vkSj 2	 (D)	u rks 1 u gh 2

	 10.	 What is unemployment trap?
	 (A)	 A situation when unemployment benefits discourage the unemployment to go to work.
	 (B)	 A situation where people working informally, without proper job contracts and thus save any legal 

protection.
	 (C)	 It refers to the time lag between the jobs or is switching between the job.
	 (D)	 It is loss of jobs due to change in technology.

	 	csjkstxkjh tky D;k gS\
	 (A)	 ,d ,slh fLFkfr tc csjkstxkjh ykHk csjkstxkjksa dks dke ij tkus ds fy, grksRlkfgr djrk gSA

	 (B)	 ,d ,slh fLFkfr tgk¡ yksx fcuk mfpr ukSdjh vuqcUèk ds vukSipkfjd :i ls dke dj jgsa gSa vkSj bl çdkj 
dksbZ dkuwuh lqj{kk ugha gSA

	 (C)	 ;g ukSdfj;ksa ds chp le; vUrjky dks lanfHkZr djrk gS tc dksbZ O;fDr ubZ ukSdjh dh ryk'k esa gS ;k 
ukSdfj;ksa ds chp fLop dj jgk gSA

	 (D)	 cg çkS|ksfxdh esa ifjorZu ds dkj.k ukSdfj;ksa dk uqdlku gSA

	 11.	 Green Revolution of 1960 was associated with
	 (A)	 Use of HYV of seeds	 (B)	 Tree plantation programme
	 (C)	 Fisheries development	 (D)	 None of these

	 	1960 dh gfjr ØkfUr dk laEcUèk fdlls Fkk\
	 (A)	 HYV chtksa dk ç;ksx	 (B)	o`{kkjksi.k dk;ZØe

	 (C)	 eRL; fodkl	 (D)	buesa ls dksbZ ugha
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	 12.	 National Development Council was established in
	 (A)	 1952	 (B)	 1971
	 (C)	 1958	 (D)	 1964

	 	jk"Vªh; fodkl ifj"kn~ dh LFkkiuk gqbZ Fkh
	 (A)	 1952	 (B)	1971

	 (C)	 1958	 (D)	1964

	 13.	 Which of the following combination is correct ?
	 (A)	 NABARD - Industrial loan	 (B)	 RBI-Long-term finance
	 (C)	 RRB- Agriculture finance	 (D)	 IDBI- Short-term loan

	 	 fuEufyf[kr esa ls dkSu lk la;ksx lgh gS\
	 (A)	 ukckMZ & vkS|ksfxd ½.k	 (B)	vkj-ch-vkbZ- & nh?kkZofèk foÙk

	 (C)	 vkj-vkj-ch- & Ñf"k foÙk	 (D)	vkbZ-Mh-ch-vkbZ- & vYidkfyd ½.k

	 14.	 How many countries of the world are currently members of the WTO?
	 (A)	 134	 (B)	 165
	 (C)	 164	 (D)	 155

	 	orZeku esa fo'o ds fdrus ns'k fo'o O;kikj laxBu ds lnL; gSa\
	 (A)	 134	 (B)	165

	 (C)	 164	 (D)	155

	 15.	 Which statutory body is having power regarding stock market ?
	 (A)	 SEBI	 (B)	 N.N.P.
	 (C)	 MRP	 (D)	 LIC

	 	'ks;j cktkj ds lEcUèk esa fdl oSèkkfud fudk; ds ikl 'kfDr gS\
	 (A)	 SEBI	 (B)	 N.N.P.
	 (C)	 MRP	 (D)	 LIC

	 16.	 Fiscal deficit is that part of total government expenditure which is met by
	 (A)	 Imposing more taxes	 (B)	 Borrowings
	 (C)	 Selling shares held by government	 (D)	 All of the above

	 	jktdks"kh; ?kkVk dqy ljdkjh O;; dk og Hkkx gS ftls fdlds }kjk iwjk fd;k tkrk gS\
	 (A)	 vfèkd dj yxkdj	 (B)	mèkkj ds }kjk

	 (C)	 ljdkj }kjk èkkfjr 'ks;jksa dh fcØh	 (D)	mi;ZqDr lHkh

	 17.	 What is the contribution of the secondary sector in Jharkhand State Value Added at constant prices in 
2019-20?

	 (A)	 32.8%	 (B)	 28.2%
	 (C)	 28.9%	 (D)	 12.5%

	 	2019&20 esa fLFkj ewY;ksa ij >kj[k.M ds jkT; ewY; ofèkZr esa f}rh;d {ks=k dk D;k ;ksxnku gS\
	 (A)	 32.8%	 (B)	 28.2%
	 (C)	 28.9%	 (D)	 12.5%

	 18.	 What is the gap in the literacy rate of Jharkhand and India in percent as per the 2011 Census?
	 (A)	 5%	 (B)	 7.3%
	 (C)	 20.8%	 (D)	 10.3%

	 	2011 dh tux.kuk ds vuqlkj >kj[k.M vkSj Hkkjr dh lk{kjrk nj esa varj (çfr'kr esa) D;k gS\
	 (A)	 5%	 (B)	 7.3%
	 (C)	 20.8%	 (D)	 10.3%
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	 19.	 Which of the following statement is not correct about the Jharkhand State Contingent Foodgrains Fund?
	 (A)	 It is constituted to thwart any eventuality of starvations-deaths.
	 (B)	 This fund has been constituted right from the district level down to the Panchayat in the financial 

year 2018-19.
	 (C)	 During the COVID-19 pandemic, this fund has helped the needy people in tackling the problem of 

scarcity of foodgrains at the ground level.
	 (D)	 5 kg of rice is given to the eligible beneficiaries from this fund.

	 	>kj[k.M jkT; vkdfLed [kk|kUu dks"k ds ckjs esa fuEufyf[kr esa ls dkSu&lk dFku lgh ugha gS\

	 (A)	 bldk xBu Hkq[kejh&e`R;q dh fdlh Hkh fLFkfr dks foiQy djus ds fy, fd;k x;k gSA

	 (B)	 foÙkh; o"kZ 2018&19 esa bl dks"k dk xBu ftyk Lrj ls ysdj iapk;r rd fd;k x;k gSA

	 (C)	 COVID-19 egkekjh ds nkSjku bl dks"k us tehuh Lrj ij [kk|kUu dh deh dh leL;k ls fuiVus esa t:jrean 
yksxksa dh enn dh gSA

	 (D)	 5 fdyks pkoy bl dks"k ls ;ksX; ykHkkfFkZ;ksa dks fn;k tkrk gSA

	 20.	 As per the India State Forest Report 2019, what percent of Jharkhand’s Geographical area comes under 
the forest cover?

	 (A)	 30.52%	 (B)	 29.12%
	 (C)	 29.62%	 (D)	 28.98%

	 	Hkkjr jkT; ou fjiksVZ 2019 ds vuqlkj] >kj[k.M ds HkkSxksfyd {ks=k dk fdruk çfr'kr Hkkx ouksa ds varxZr vkrk 
gS\

	 (A)	 30.52%	 (B)	 29.12%
	 (C)	 29.62%	 (D)	 28.98%

SECTION-III 

([k.M&II)

	 1.	 What is National Income? Discuss the various methods of measuring national income.

	 	jk"Vªh; vk; D;k gS\ jk"Vªh; vk; dks ekius ds fofHkUu rjhdksa ij ppkZ djsaA

OR/vFkok

			  Write an Essay on Budget. Explain the principles and types of Budget.

	 	ctV ij ,d fucUèk fy[ksaA ctV ds fl¼kUrksa vkSj çdkjksa dh O;k[;k djsaA� 40

SECTION-III 

[k.M&III

	 2.	 What is the origin of expression “SUSTAINABLE DEVELOPMENT” ? How it is associated with protecting 
the environment? Elaborate the statement “Center to start measuring green G.D.P. of States”.

	 	¶lrr~ fodkl¸ vfHkO;fDr dh mRifÙk D;k gS\ ;g i;kZoj.k dh lqj{kk ls dSls tqM+k gS\ bl dFku dh O;k[;k djsa] 
¶jkT;ksa dh gfjr th-Mh-ih- dk ekiu dsUæ 'kq: djsxk¸A

OR/vFkok

		  Write a note on Indian Five Year Plan.

	 	Hkkjrh; iapo"khZ; ;kstuk ij ,d uksV fy[ksaA� 40
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SECTION-IV 

[k.M&IV

	 3.	 Write an overview on impact of Globalization in Indian economy.

	 	Hkkjrh; vFkZO;oLFkk esa oSf'odj.k ds çHkko ij ,d flagkoyksdu djsaA

OR/vFkok

		  Write the recent agriculture sector reforms which are done in India.

	 	gky gh esa Hkkjr esa fd, x, Ñf"k {ks=k ds lqèkkjksa dh O;k[;k djsaA� 40

SECTION-V 
[k.M&V

	 4.	 What are the sources of public borrowings of the Government of Jharkhand? Discuss the recent trends-in 
the debt-sustainability indicators for Jharkhand.

	 	>kj[k.M ljdkj ds lkoZtfud mèkkj ds lzksr D;k gSa\ >kj[k.M ds fy, ½.k&fLFkjrk ladsrdksa esa gky ds :>kuksa 
ij ppkZ djsaA

OR/vFkok

		  Discuss in brief the major challenges faced by Jharkhand in the path of addressing the developmental 
concerns.

	 	 fodkl lacaèkh fparkvksa dks nwj djus ds ekxZ esa >kj[k.M ds lkeus vkus okyh çeq[k pqukSfr;ksa dh la{ksi esa ppkZ djsaA
� 40


